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1.Bootstrap

Bootstrap

1.@7N

1 ft4=2bootstrap?
bootstrap2 X TRiiTHIBIIRIESR (RELES),
BREREEER, IR, =WATT;
BRYETFitwebFFRENNTE. SUE;

HTwitter N ENF R TEIMMark OttoF1Jacob ThorntonfE20115EA#2HY, FHFIBISAYEE
TE— MR A,

2 HHARHELR?

[ lib library

SHIE/MYRIES RE—EREENERFES T
B—ETRe AR IR — M EIRAI S PRIZRPS;
BootstrapiZit—ERlinm el RE LEES.

3 Bt 4fEABootstarp?

o ETEK, RHTEFEN,

o Rt—E SEMABRIFEAM,

o IR FRE, BEhg&EH
o IEFMIAY  Web FFREHSR, HiREE

pEI=¥
1. {$£F8 Bootstrap HAREAHE CSS #, MEFAEBXZHARE BRI
2. Bootstrap A2 BootStrap! iX2—Ma, ~A2&MkiE, HEEXA: n. 5184835152 F

ER : http://www.bootcss.com/

github #tEflt:  https://github.com/twbs/bootstrap
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Boostrap #ki#fi Jquery

1.IMEE&EREBootStrap
¥ B SEsil [C\Users\DEMO\Desktop\SREIN] - ..\01-Bootstraphindex.htmi [FRHRE] - WebStorm - [m] ®
il EHE SSRE WEY SR B0 BEaR EFW IAD vosEg #00 =EH
= B shSniN ) B 01-Bootstrap | o indeshtml ) Add Configuration... Q
i‘ Project = 2 = 9 — o | s index.html [ - ) )
? v B RS CA\Users\DEMO\Desktop\| <!DOCTYPE html> L4
| v Wm01-Bootitrep E <html lang="en"> €e00
g )u:in 3 <head>
5 : :5:1 <meta charset="UTF-8">
. J: : <title>Bootstrap</title>
i index.htmi ‘ <11nl§5rel="stylesheet" href="./dist/css/bootstrap.css">
0 Stratches and Consoles </head>
LS : <body>
1 </body>
11 </html>
9
g
5
=
%
*
s B
g
2
L
=
& - html > body
M Terminal = § TODO tLog
] :1 CRLF : 50O

2.Bootstrap#J{#i&

MOviewport: FTLARZE— M EEIRIEO, BIAZ980px

<IDOCTYPE html>
<html lang="zh-CN">
<head>
<!--1ZEHG gbk gb2312 utf-8-->
<meta charset="utf-8">
<l--
HIRIENSSES LARIEY fEMTes EENTRRIAYTAE,
content="IE=edge"FJedgeNTXEEHMAVFITES BT LURRIE-11,
content="IE=10" {CEISEEFIIE-100YARTES

-->
<meta http-equiv="X-UA-Compatible" content="IE=edge">
<l--
FERHRE
WH: EHEE0O, BIARZ980px
-->

<meta name="viewport" content="width=device-width, initial-scale=1">
<l-- FiR3 P metatr& A AEREIE, (HIEMASE W IRBEE! -->
<title>01-BootstrapE A&tz < /title>
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<!-- 5| \Bootstrap -->
<link href="bootstrap/dist/css/bootstrap.css" rel="stylesheet">

<I--
WNERIENIEEESRAINT9, BER TEMAE():

html5shiv: 1EhRANFIRIIENISSES, BREIE(ERNSAIIRE
respond: LEARA/NFORIIENIEGES, tHREMEFERACIAIRTN

-—>

<!I--[if It IE 9]>

<script src="js/html5shiv.min js"> </script>

<script src="js/respond.min.js"> </script>

<I[endif]-->

</head>
<body>

<h1>{RgF, HR! </h1>

<!-- BootstrapiXMMEZEKERQuery; jquery N1 IR ALUS A B FieOL I TNIEEE (#EF1.9.1) -

>
<script src="jquery/jquery-3.2.0.js" > </script>
<script src="bootstrap/dist/js/bootstrap.js" > </script>

</body>
</html>

#i###3 R B ERAYER
4844 button, button -group, input , progress, F{KEFR

<l--$ZH-->

<button class="btn btn-default">&1&#&$H </button>
<button class="btn btn-success"> I </button>
<button class="btn btn-danger" >f&}& </button>

<1--1ZEH4E-->

<div class="btn-group" role="group" aria-label="...">
<button type="button" class="btn btn-default">Left</button>
<button type="button" class="btn btn-success">Middle</button>
<button type="button" class="btn btn-default">Right</button>

</div>

<div class="btn-toolbar" role="toolbar" aria-label="..." >
<div class="btn-group" role="group" aria-label="..." >
<button type="button" class="btn btn-default">1</button>
<button type="button" class="btn btn-default">2</button>
<button type="button" class="btn btn-default">3</button>
</div>
<div class="btn-group" role="group" aria-label="...">
<button type="button" class="btn btn-default">4</button>
<button type="button" class="btn btn-default”>5</button>
<button type="button" class="btn btn-default">5</button>

RS

1.Bootstrap


https://ld246.com/article/1575881338738

</div>
<div class="btn-group" role="group" aria-label="...">
<button type="button" class="btn btn-default">6</button>
<button type="button" class="btn btn-default">7 </button>
<button type="button" class="btn btn-default">8</button>
</div>
</div>

<1 STAHE >
<div class="input-group” style="width: 300px" >
<span class="input-group-addon" id="basic-addon1" style="width: 100px">@ @ </spa
>
<input type="text" class="form-control" placeholder="Username" aria-describedby="ba
ic-addon1">
</div>
<div class="input-group” style="width: 300px" >
<span class="input-group-addon" id="basic-addon3" style="width: 100px">@ </span>
<input type="text" class="form-control" placeholder="Username" aria-describedby="ba
ic-addon1">
</div>

<div class="input-group">
<input type="text" class="form-control" placeholder="Recipient's username" aria-descri
edby="basic-addon2">
<span class="input-group-addon" id="basic-addon2">@example.com</span>
</div>

<I--PHER-->
<div class="progress">
<div class="progress-bar" role="progressbar" aria-valuenow="60" aria-valuemin="0" ari
-valuemax="100" style="width: 40%;" >
40%
</div>
</div>

4.f1OViewPort
t42#%0? &S0

FIMITEASSE— MO, AOESE— T ENMNED | FOARNRTR980GE
ATREBNRE, —RLIMREONEETIZSEEILLENR 111, HEARFRARERE;

<l--
viewport: #i
width=device-width : O ST IREBHIZ
user-scalable : ARIIFMITUHITERL
initial-scale : ¥R 4ER A1
maximum-scale=1.0 : BAZE1
minimum-scale=1.0 : &/NGEH1
-—>
<meta name="viewport"
content="width=device-width, user-scalable=no, initial-scale=1.0, maximum-scale=1.0,
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minimum-scale=1.0">

5.Bootstrapi ARYAEH
1. &R

<div class="panel panel-danger" >

<div class="panel-heading">
SRRSIRYF!

</div>

<div class="panel-body">
XAN B!

</div>

<div class="panel-footer">
2019-10-21

</div>

</div>

=z
2.1

<span class="badge" style="background-color: red">10</span>
<div class="badge" style="background-color: red">20</div>
<button type="button" class="btn btn-danger" >
<span class="badge" style="background-color: red">30</span>
</button>
<a href="">input
<span class="badge" style="background-color: red">23</span>
</a>

3SR

<!|--SRHRSIE
data-target="#myModel" 1SERHRIE IR (BR: EHEES)
data-toggle="model" LUESHERIS(58H
data-dismiss="modal" LUESIERIAR RS
-->
<button class="btn btn-success" data-toggle="modal" data-target="#myModal" >37B)%
</button>
< AEAIE->
<div class="modal fade" id="myModal" tabindex="-1" role="dialog" >
<div class="modal-dialog" role="document">
<div class="modal-content">
<div class="modal-header">
<button type="button" class="close" data-dismiss="modal" aria-label="Close" >
span aria-hidden="true">&times; </span> </button>
<h4 class="modal-title" > WiPEFHEIL 1) < /hd >
</div>
<div class="modal-body" >
<div>
FIF#&:<input type="text" placeholder="{EMN\FEF&Z">
</div>
<div>
2Z&nbsp;&8nbsp;&nbsp;i3:<input type="password" placeholder="1EHNZEHS" >
</div>
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</div>
<div class="modal-footer">
<button type="button" class="btn btn-default” data-dismiss="modal">E{E </bu

ton>
<button type="button" class="btn btn-primary">%&x</button>
</div>
</div><
</div>
</div>
1. BB RRESES N —( NI ):
/[ AHEIE:

//data-target="#myModal" 15E8HIBR (BER: 1EES)

//data-toggle="modal" 1BELUEIERIS 38

//data-dismiss="modal" fEELURSIERIDIVER

<button type="button" data-toggle="modal" data-target="#myModal">Launch modal</but
on>

EraEREESESNZ ( B js 58 ):
$('#myModal').modal('show"); // 1Bidjs{LiB B ERS

$('#myModal’).on('show.bs.modal’, function (e) {
console.log(t&SHEERATEIAE');
)

$('#myModal’).on('hidden.bs.modal’, function (e) {
console.log(‘tESERSRIATEIA");
)

2.Bootstrap/VZZ |

1#EIRE
{EAbootstrap 5 Jquery 1EZEH:IAK ;

Hrhboostrap i Jquery
v W bactstrap 13 ==T. 5 AbootstTOp
. 14 <link rel="stylesheet" href="bootstrap/css/bootstrap

:.? > I fonts

.min.css">
1 cl——2, B A SEEH A-—>

1 <link rel-“stylesheet“ href="css/index.css">
17 < /head>
1

1

> [mimage
v mjs <body>
& indexjs
i index.himl 20 ——1. 5fAJquery—->
"0 Scratches and Consoles 21 <scrﬁpt src-"bootstrapljsijquery 1.11.1.min.js"></script>
Il #+EREE 22 -2, 5f{ Abootstrap

<script src-"hootstrap!js}bontstrap min.js"></script>
==2, 5l A SIS LTf

kscript src= “]sf1ndex.]s"><jscr1pt:

< fThadus
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2 BootStrap EKIEERALS
1.E : MAONEETRENE
2 I M TTRIEREL B9 1

3 SLINSAnRAM

FE

S BEHInavEHAREERS50px FH margin-bottom:20px

<I--Sfig-->

<I--

data-toggle="collapse" IEELMFENARIIEEF
data-target="#nav_content" IEEEHESIBR

data-toggle="modal" {8ELMESERISRITHER
data-toggle="dropdown" gL TFHRAIAFTHBIR

role: ERRIZEREN MY, IREHAHTEINEE, ATLAMER.

sr-only #] aria-xx : BRI, FAREREACRORS-->
<nav class="navbar navbar-default">

<div class="container-fluid">

/li>

<!-- Brand and toggle get grouped for better mobile display -->
<!--FaR# M — 1 eolimRaaoigE- - >
<div class="navbar-header" >
<button type="button" class="navbar-toggle collapsed" data-toggle="collapse"

data-target="#nav_content" aria-expanded="false">

<span class="sr-only">Toggle navigation</span>
<span class="icon-bar"></span>
<span class="icon-bar"></span>
<span class="icon-bar"></span>
</button>
<a class="navbar-brand" href="#">
<img src="./img/header_logo.png" alt="" style="width: 100px">
</a>
</div>
<|--SHRKMRE-->
<!-- Collect the nav links, forms, and other content for toggling -->
<div class="collapse navbar-collapse" id="nav_content">
<ul class="nav navbar-nav" >
<li class="active"><a href="#">ETQ <span class="sr-only">(current)</span></a>

<li><a href="#">Fft</a> </li>
<li><a href="#">TFFZ</a></li>
<li><a href="#">§EEEM </a> </li>
<li><a href="#">&Fm&Es0</a> </li>
<li><a href="#">EX </a></li>
<li><a href="#">&R7(y</a></li>

</ul>
<ul class="nav navbar-nav navbar-right">
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<li><a href="#">&%</a> </li>
<li><a href="">Ffft</a> </li>
</ul>
</div><!-- /.navbar-collapse -->
</div><!-- /.container-fluid -->

</nav>

4 SMSHEFN
o 70 Eo LU SR EIEE NSRS A9TRER

EREENSMESEFRE ENEMIAS, BIh w®it

o SfnZBE— HE HE, NMLEMERERETRSERENET
o A0 AN SRR S S

S5CH feHEE  (jsHhfd)

INEE RV

<l--
LA T AR BN EE B HIZERK,
SFEIZEFWINNLE class="carousel slide" data-ride="carousel" ERHEFIE— | \LIEE
bootstrap.jseBa1ASRITTR MNE R BRI
-—>
<1 RIEE- >
<div id="sz-banner" class="carousel slide" data-ride="carousel">
<l-- |5 -->
<l-- ot ERE R RBAYEHIR -->

<ol class="carousel-indicators" >
<l

B NMglE— T EBRIRAYEH R
data-targetiE@M4mi 21 LA SR — MOEE, ERNENERE LESME
B, ETFXoEEEsE—
data-slide-to/@4 25 SRIRIIITTEISERIE S/ LM HEIR
IR, ARG ESEANIIN Eactive, EBRAIFHMEHEERIE
-->
<li data-target="#sz-banner" data-slide-to="0" class="active"> </li>
<li data-target="#sz-banner" data-slide-to="1"></li>
<li data-target="#sz-banner" data-slide-to="2"></li>
<li data-target="#sz-banner" data-slide-to="3"></li>
</ol>
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<l-- I -->
<I--
.carousel-innerZFTE R EIINSRE T,
iE=role="listbox"NFRARIdIVE—MIIREF, (FAMRLEZRIIVIII—MNENX
-->
<div class="carousel-inner" role="listbox" >
<l-- B—PitemPHERRENMRBEME, ITREAZLEE —MECEIMB NN Eactive, FRAER -->
<div class="item active">
<!-- R B S EER -->
<img src="./img/banner1 jpg" alt="...">
<!-- IrRE RS, WRAFEE, EiEMIBR=RIdiv.carousel-caption -->
<div class="carousel-caption" >
</div>
</div>
<div class="item">
<img src="./img/banner2 jpg" alt="...">
<div class="carousel-caption" >
</div>
</div>
<div class="item">
<img src="./img/banner3 jpg" alt="...">
<div class="carousel-caption” >
</div>
</div>
<div class="item">
<img src="./img/banner4 jpg" alt="...">
<div class="carousel-caption” >
</div>
</div>
</div>

<l-- 2l E—35K -->
<l-- BREE LEAR N EGIRE, o3REILIREIE E—KFI T —iK -->
<l-- WAMEETENR Zatzihref BV IERZE 2 HRVIEEID -->
<l-- BhhatiEzpRYdata-slide="prev'KERREXHESRE L—K, MNRIRESnextdIiENER
->
<a class="left carousel-control" href="#sz-banner" role="button" data-slide="prev">
<span class="glyphicon glyphicon-chevron-left" aria-hidden="true"> </span>
<span class="sr-only">Previous</span>
</a>
<I--TF—5K-->
<a class="right carousel-control" href="#sz-banner" role="button" data-slide="next" >
<span class="glyphicon glyphicon-chevron-right" aria-hidden="true"> </span>
<span class="sr-only">Next</span>
</a>
</div>

6titETh R (—)
1.*container IIRITN S H

o EX— EEEEBBRETHIML
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e container2E& MR AIEE
o EEHGII/MYAI 1170 970 750 100%

FE(FH

1. 7EBER FTRERYEE R A (MR 0) IR B PR, JNEBEER, container IR HREZ 3
. FFEEFR column EEEETHSEL, FLMBIAMERTEZK.

2. BMHE—1IKERMERY padding, FEMEHNSASEMEINISEEEANLR, K/\A15px
1.[7%E)SEEM containerll 7B B RIEE-resize

<IDOCTYPE html>
<html lang="en">
<head>
<meta charset="UTF-8">
<title>Title</title>
<style>
*{
margin: 0;
padding: O;

.container{
height: 30px;
background-color: red;
margin: 0 auto;
}
</style>
</head>
<body>
<div class="container" >
</div>
<l--
P9z 1170 970 750 100%
-->
<script>

window.onload=function () {
//1.2%]containertr&s
var container = document.querySelector('.container’);

windowChange();

/2 WIRBEOARENZS...
window.addEventListener('resize',windowChange)

function windowChange() {
/3 ERONEE
var windowWidth=window.innerWidth; //width + padding

if(windowWidth>=1170){

container.style.width=1170+"px’;
}else if(windowWidth>=970){
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container.style.width=970+"px’;
}else if(windowWidth>=750){
container.style.width=750+"px’;
}else{
//...
container.style.width="100%";
}
}
}
</script>
</body>
</html>

2 1B (F &M containerlIR R IRIE

<IDOCTYPE html>
<html lang="en">
<head>
<meta charset="UTF-8">
<title>Title</title>
<style>
R
margin: 0;
padding: 0;
}

.container{
height: 30px;
background-color: red;
margin: 0 auto;

}

/*... 750*/

@media (max-width: 750px){

.container{
width: 100%;
}

}
@media (min-width: 750px) and (max-width: 970px){
.container{
width: 750px;
}
}
@media (min-width: 970px) and (max-width: 1170px){
.container{
width: 970px;
}
}

@media (min-width: 1170px) {
.container{
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width: 1170px;
}
}

</style>
</head>
<body>
<div class="container">
</div>
<l--

P94ME{Z 1170 970 750 100%

-->
</body>
</html>

2.row

row¥F—1T, —MREEScontainerk—RE A .
FHEEMRERSS, A "5 (column) RRMHE " row I;
gagt

Ill,\,|:|:

container Z£fapadding 15px ; row Z=famarginZc5-15px , A AEXAIRER?
1.rowErERJEcolumn, column ZfApadding 15px ;

2ERITZERER, columnaJLlFtXcontainerSes, 87 —EBHiRE.

BHILEE : column [&TEAE padding 15px BIAFE— MEXIENL

3.{lishant&FE%

FrE "%l (column) WRMUE " row A; FE row—RIIE containery

BootstrapdAIME R A 2E 17X /91251

HlilE col-*-*RRBIEFEN T REEMERNER TRER/15
col-md-6 EHFERET H1/2

col-xs-12 THB/NEE T 5256

4.col-** Sl -

ERMERERY TSR SE

col-xs-[51%4]: EE/INFE FERILD
col-sm-[51%]: NEETERIUD
col-md-[FI#]: EHERE NER/ D
col-lg-[%1&]: EXRETERILGD
_xs__:HE/INFE FHL (<768px)
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_sm__:/NRE TR (2768px)
_md__: PEFE KHEES (2992px)
_lg_: KR KEEEEE (21200px)

Bl
i

ZmERES:
<l--shiERIHH=ARE-->

<div id="main">
<div class="container-fluid">
<div class="row">
<div class="col-md-4">.col-md-4</div>
<div class="col-md-4">.col-md-4</div>

<div class="col-md-4">.col-md-4</div>
</div>

</div>
</div>

7HEHR (2)

1.8— ) itemf BRI ES:
<|-- i TRE-->

<div id="main">
<div class="container-fluid" >
<div class="row">
<div class="col-md-4 col-sm-6">

<img src="./img/cake1jpg" alt="">
<h3>90&F#x5</h3>

<button class="btn btn-success" >37BIE < /button>
</div>

<div class="col-md-4 col-sm-6">

<img src="./img/cake2,jpg" alt="">
<h3>1ZHk=tERE</h3>

<button class="btn btn-success">37BIML </button>
</div>

<div class="col-md-4 col-sm-6">

<img src="./img/cake3 jpg" alt="">
<h3> 4 HEEASERE </h3>

<button class="btn btn-success">37BIML </button>
</div>

</div>

Bl E

ol

iR EREE
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</div>
</div>

StiitafnatE=l

body {
padding-top: 50px;
}

#main {
padding: 20px;

[ IKERRH*/
#main .container-fluid .row .col-md-4 {
text-align: center;

}
[ EIR RN

#main .container-fluid .row .col-md-4 img {
width: 180px;
}

#main .container-fluid .row .col-md-4 h3 {
font-size: 15px;
font-weight: bolder;

)
SIS

TOE B - I

B+ F
MO HREISERE ,
S HERESIEEDE, NEAENEEE,. (SHEASRIIRY, BFEROE, hiFIERERE “1/
5. OSHAENHE FHERENNE, FANSE, BEFR=S, / rr"
ZERIARAES:

<!--[KZRpYytabBar-->
<div id="tabBar">
<!-- Nav tabs -->
<!-- Tab panes -->
<div class="tab-content">
<div role="tabpanel" class="tab-pane active" id="nine">
<div class="row">
<div class="col-md-8">.col-md-8</div>
<div class="col-md-4">.col-md-4</div>
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</div>
</div>
<div role="tabpanel" class="tab-pane" id="Cherry" >
<div class="row">
<div class="col-md-4">.col-md-4</div>
<div class="col-md-8">.col-md-8</div>
</div>
</div>
<div role="tabpanel" class="tab-pane" id="Avocado">
<div class="row">
<div class="col-md-8">.col-md-8</div>
<div class="col-md-4">.col-md-4</div>
</div>
</div>
</div>
</div>

10iREHHE RS
AT RIAA:

<div id="tabBar">
<!-- IFEA K -->
<l-- data-toggle="tab" : mEiRYIEAISX.. (modal, tab, dropdown ,collapse..) -->
<ul class="nav nav-tabs" role="tablist">
<li role="presentation" class="active"><a href="#nine" aria-controls="home" role="tab"
data-toggle="tab">70%FEkE</a> </li>
<li role="presentation"> <a href="#Cherry" aria-controls="profile" role="tab" data-togg
e="tab">12pk=LTEE</a> </li>
<li role="presentation"> <a href="#Avocado" aria-controls="messages" role="tab" data-
oggle="tab">4-HR(EAEEE </a> </li>
</ul>
<!-- FREER -->
<div class="tab-content">
<div role="tabpanel" class="tab-pane fade in active" id="nine" >
<div class="row">
<div class="col-md-8">
<h2>[E]3|70& < /h2>
<p class="lead" >WEREGEER LN RRE, 81MFEEETECHESFCIZ,
7T0RYKTE. BORYZRME, 90RIAES??
. RELREABIGEANEERMNE, RIES, HSERRER, </p>
</div>
<div class="col-md-4">
<img class="img-responsive" src="./img/cake1l.jpg" alt="">
</div>
</div>
</div>
<div role="tabpanel" class="tab-pane fade" id="Cherry">
<div class="row">
<div class="col-md-4">
<img class="img-responsive" src="./img/cake2.jpg" alt="">
</div>
<div class="col-md-8">
<h2>HkZMEPkETERE </h2>
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<p class="lead">BEMEFAEALFRBEZ4LL,
BREADRRIRE, MOFRSERIZLEFLEH,
FSEHFIBRFIEE—F, RTIRABRSHRE—STS. </p>

</div>

</div>
</div>
<div role="tabpanel" class="tab-pane fade" id="Avocado">
<div class="row">
<div class="col-md-8">
<h2> 0| FHRERAEERE </h2>
<p class="lead" >4 HRAYEEFIRSEARE, NEILBNERER,
(REERARHRIBEE, FRLFs, IR hRAVEHET,
. BEMENKE, FHHEMBIREK, BRI, BERSH. </p>
</div>
<div class="col-md-4">
<img class="img-responsive" src="./img/cake3.jpg" alt="">
</div>
</div>
</div>
</div>
</div>
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/*BE R EEETRER*/

#tabBar .tab-content .tab-pane .row .col-md-4 {
margin-top: 50px;

}

[*FREEESTRER*/
#tabBar .tab-content .tab-pane .row .col-md-8 {
margin-top: 100px;

}

/*h2 RERER*/

#tabBar .tab-content .tab-pane .row .col-md-8 h2{
color: red;

}
2. BIENE

/*BIENmE--> Hscreen and ATLAEHE*/
@media screen and (max-width: 650px) {
/R TRER*/
#tabBar .tab-content .tab-pane .row .col-md-8 {
margin-top: 40px;
}
}
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<div class="topbar hidden-xs hidden-sm"> </div>
/] &

<div class="topbar visible-md visible-Ig" > </div>
hidden-xx : = FaE( display :  ‘'none’ )
visible-xx-xxx : EREMEFERIT TESR

visible-md-xx: #EHR4EFREIN, FEHFF=ELLE
visible-md-block visible-lg-block == hidden-sm hidden-xs

1. *F5R- WA TRhidden
RiEhidden-xxxB9%F5m, FHAIATLUBSIREE RN G IRTIR

<l--

.hidden-xs < 768
.hidden-sm [768, 992)
.hidden-md [992, 1200)
.hidden-lg >= 1200

-->

<IDOCTYPE html>
<html lang="en">

<head>
<meta charset="UTF-8">
<title>Title</title>
<style>
.container{
width: 300px;

height: 300px;
background-color: red;
margin: 20px auto;
}
//screen and EaJLABIRHY
@media screen and (max-width: 768px){
.hidden-xs{
display: none;
}
}

@media screen and (min-width: 768px) and (max-width: 992px){

.hidden-sm({
display: none;
}
}

@media screen and (min-width: 992px) and (max-width: 1200px){

.hidden-md{
display: none;
}
}
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@media screen and (min-width: 1200px){
.hidden-lg{
display: none;

}
</style>
</head>

<l--

.hidden-xs < 768
.hidden-sm [768, 992)
.hidden-md [992, 1200)
.hidden-lg >= 1200

-->

<body>
<div class="container hidden-sm ">
</div>

</body>

</html>

2 *IFR- MR T Bvisible

2 fR{REvisible-xooHMFR, FATLIBTRBERIRNSTURRHTRR:

<l--
.visible-xs-block
Visible-xs-inline
.visible-xs-inline-block
-—>

<!DOCTYPE html>
<html lang="en">
<head>
<meta charset="UTF-8">
<title>Title</title>
<style>
.container{
width: 300px;
height: 300px;
background-color: red;
margin: 20px auto;
display: none;
}
@media screen and (max-width: 768px){
.visible-xs-block{
display: block;
}

.visible-xs-inline{
display: inline;

.visible-xs-inline-block{
display: inline-block;
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}
}

@media screen and (min-width: 768px) and (max-width: 992px){
.Visible-sm-block{
display: block;
}
.visible-sm-inline{
display: inline;
}
.visible-sm-inline-block{
display: inline-block;
}
}

@media screen and (min-width: 992px) and (max-width: 1200px){
.visible-md-block{
display: block;
}

Vvisible-md-inline{
display: inline;

Vvisible-md-inline-block{
display: inline-block;
}

}

@media screen and (min-width: 1200px){
.visible-lg-block{
display: block;

.visible-lg-inline{
display: inline;

.Vvisible-lg-inline-block{
display: inline-block;
}

}
</style>
</head>
<I--
.visible-xs-block
.visible-xs-inline
.visible-xs-inline-block
-—>

<body>
<div class="container visible-xs-block" >

</div>

<p>FHEp</p>
</body>
</html>
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